10.2 u Substitution Indefinite Integrals

PRACTICE
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10.2 u substitution indefinite integrals TEST PREP

MULTIPLE CHOICE
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Questions 89 refer to the following situation,
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A. spider begins to crawl up a vertical blade of grass at time ¢ = 0. The veloc-

r

1£y v of the spider at time £, 0 =5 + = 8, is given by the fonction whose graph
is shown,

8. At what value of f does the spider change divection?

(A) 3 4 () 5 /( 9
Ey 8 _J

9. What is the total distance the spider traveled from t = 0 to ¢ = 8§

(A} 3 (B) 8 ) 9 C
(D) 10 @ 15




17, The aceeleration of & particle moving along the v-axiy nt thne ¢ is given by a(t) = 4f - 12, If the velocity is 10

3

{E} vl?—“:’{ Jt o C

whaen f = 0 and the position is 4 when ¢ = 0, then the particle is changing divection at

{A) t=1
(B) £=23
(C) t=5

By t=land f=3and =5
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